





A2.4-Continuity: Problem 14

(1 point) localirmb-problems/piecewise-cont.pg
Let f be defined by
,_ z + 5, x <2
f(z) =< Az + B, 2L #<T
2x + 13 T<z
Find the yalues cx.f'A and B which make f continuous everywhere.
A= - #E B= 2 help

(numbers)
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A2.5-Evaluating-Limits: Problem 8

This set is

(1 point)
Rogawski_Calculus_Early_Transcendentals_Second_Edition_Offering/2_Limi

Evaluate the limit:
2 —3z42




A2.5-Evaluating-Limits: Problem 13
, This set is visib

(1 point) local/rmb-problems/instant-vel.pg
The position of a particle is given by the function p(t) = 3¢3.
Find the average velocity of the particle on the interval [p, q].

The average velocity is 2 . help

(formulas)

Take the limit as q approaches p of the expression for the average velocity to find the
instantaneous velocity at the time p.

The instantaneous velocity is 22 . help

(formulas)







A2.6-Trig-Limits: Problem 3

(1 point)
Rogawski_Calculus_Early_Transcendentals_Second_Edition_Offering/2_Limits/

Evaluate using the Squeeze Theorem.

(Use symbolic notation and fractions where needed.)

lim (cosz) - cos (tan(8z)) = 3= help (fractions)
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A2.6-Trig-Limits: Problem 11

(1 point)
Rogawski_Calculus_Early_Transcendentals_Second_Edition_Offering/

Th

Evaluate the limit:

]jm l-cos 3t __
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A2.8-IVT: Problem 5

(1 point) local/rmb-problems/ivt.pg
Find an interval (a, b) of length 1 and so that we may use the values of the expression

re? atthe endpoints of the interval and the intermediate value theorem to show that
the equation

xr
res =2

has a solution in the interval (a, b).
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